AP Physics 1:  Review Packet 04 RUBRIC

	Problem 1

(a) A block speeds up as it slides down a frictional ramp, then reaches a horizontal surface that is still frictional and slows to rest.
(
In the situation, an object goes down
(
The “go down” is between (1) and (2)
(
In the situation, an object speeds up
(
The speeding is between (1) and (2)
(
In the situation, an object slows down
(
The slowing is between (2) and (3)
(
For a situation that has friction
(
For having friction act the entire time
(
For having friction act the entire time
(
The diagram is consistent with the situation described (even if wrong).

(b)
A rocket ship accelerates as it takes off from Earth’s surface, OR a car accelerates as it climbs a hill.

(
In this situation, an object goes up

(
The object goes up the entire time
(
In this situation, an object speeds up
(
The object speeds up the entire time
(
The means by which energy is added to the system is explained (rocket fuel or car engine)
(
The diagram is consistent
(c)
A spring launches an object off of a table, and the object falls to the ground.

(
For the presence of a spring
(
For the spring launching an object
(
Spring launches object horizontally
(
Spring launches between (1) and (2)
(
After the spring launches the object, the object goes down somehow (projectile or down a ramp)

(
Going down between (2) and (3)

(
Specifically stating that there is no friction in this situation.
(
The diagram is consistent
(d)
A pendulum swings back and forth

(
Any situation where an object oscillates (pendulum, or an object going back and forth up two inclines)
(
(1) represents the lowest point in the oscillation
(
(2) represents the highest point in the oscillation

(
There is no friction
(
The diagram is consistent
	(e)
An object oscillates horizontally at the end of a spring

(
Any situation where an object oscillates on the end of a spring
(
This specific situation has to have the object oscillating HORIZONTALLY
(
(1) represents the endpoints of the oscillation
(
(2) represents the center of the oscillation

(
There is no friction
(
The diagram is consistent
(f)
An object oscillates vertically at the end of a spring

(
Any situation where an object oscillates on the end of a spring
(
This specific situation has to have the object oscillating VERTICALLY
(
(1) represents the highest point
(
(2) represents the center of the oscillation

(
(3) represents the lowest point

(
There is no friction
(
The diagram is consistent
(g)
A spring-loaded object launches a marble upward.

(
For the presence of a spring
(
For the spring launching an object
(
The spring launches the object vertically
(
Spring launches between (1) and (2)
(
Object goes up between (2) and (3)

(
Specifically stating that there is no friction in this situation.
(
The diagram is consistent
Problem 2

(a)
(
D = vt
(
H = ½gt2

(b)

(
½kx2 = ½mv2
(c)

(
Solving for v:  
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Solving for t:  
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Combining: 
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	(d)
D and x or D2 and x2
(
D and x or D2 and x2
(
Slope is 2Hk/mg, or reciprocal or square root of this or both

(e)


(
Second data table filled out

(
Graph has labels with units

(
Both axes have equally-spaced numbers on their scales

(
Five dots plotted from the table

(
Best fit straight line shown

(f)
Between 25 and 35 N/m

(
Shows slope of the best-fit line

(
Sets slope equal to 2Hk/mg (or whatever was found in (d))

(
Shows solving

(
Answer between 25 N/m and 35 N/m 

(
Units of N/m shown

(g)
m vs. L, L vs. m, F vs. L, or L vs. F
(
For m vs. L or L vs. m, data table can be blank.  Otherwise, data table filled with forces and lengths.

(
Forces are about 10 times bigger than masses (or they just did m vs. L)

(
Graph has labels with units

(
Both axes have equally-spaced numbers on their scales

(
Five dots plotted from the table

(
Best fit straight line shown

(h)
Between 25 and 35 N/m

(
Shows slope of the best-fit line

(
For F vs. L, slope is k; for L vs. F, slope is 1/k; for m vs. L, slope is k/g.

(
Answer between 25 N/m and 35 N/m 

(
Units of N/m shown

(i)
Percent error

(
Shows subtracting two measurements

(
Shows dividing by one of the measurements




Review Packet Belongs To:  ______________________________
Grade:  __________/120

Grader:  ______________________________

_1491283575.unknown

_1491283604.unknown

_1491283534.unknown

